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                                                 Ejemplo de actividades 

                                                  Cálculo Nº2 
 

Solución ___________________________________________________________________________ 
 

▪ 525 + 38.407 + 139.604 = 178.536 

▪ 368.701 – 299.865 = 68.836 

▪ 740.879 x 596 = 440.574.884 

▪ 26.847 x 392 = 10.524.024 

▪ 138.094 x 56 = 7.733.264 

▪ 206.767 : 48 = 4.307   R. 31 

▪ 345.963 : 214 = 1.616   R. 139 

▪ 138.574 : 11 = 12.597   R. 7 

▪ 72 : 8 + 5 X 4 + (33 : 3) = 40 

▪ 40 X 2 : 8 + 20 : 10 = 12 

 

 

 

 

  

  

 

  

 

 

 

 

 

 

 

 

 

 

+ 
         5 2 5 

   3 8.4 0 7 

1 3 9.6 0 4 

1 7 8.5 3 6                

- 3 6 8.7 0 1 

2 9 9.8 6 5 

0 6 8.8 3 6                

         2 6.8 4 7 
       x      3 9 2 
         5 3 6 9 4 
   2 4 1 6 2 3 
   8 0 5 4 1___ 
1 0.5 2 4.0 2 4 
 

    1 3 8.0 9 4 
    x          4 8 
    8 2 8 5 6 4  
6 9 0 4 7 0__ 
7.7 3 3.2 6 4 
 

2 0 6.7 6 7 4 8 

 4 3 0 7 
 

   1 4 7  
      0 3 6 7 
            3 1 
             
          
 

- 

PRUEBA 

 

2 9 9.8 6 5 

   6 8.8 3 6 

3 6 8.7 0 1                

         7 4 0.8 7 9 
         x       5 9 6 
      4 4 4 5 2 7 4 
  6 6 6 8 0 1 1 
3 7 0 4 3 9 5___ 
4 4 1.5 6 4.8 8 4 
 

    PRUEBA 

 
     2 0 6.7 6 7 
    x          4 8 
        3 4 4 5 6  
    1 7 2 2 8__ 
    2 0 6.7 3 6 

                3 1 

    2 0 6.7 6 7 
                                

+ 

+ 
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72 : 8 + 5 X 4 (33 : 3) 
72 : 8 + 5 X 4 + 11 

9 + 5 X 4 + 11 
9 + 20 + 11 

29 + 11 
40 

 

40 X 2 : 8 + 20 : 10 
80 : 8 + 20 : 10 

10 + 20 : 10 
10 + 2 

12 
 

1 3 8.5 7 4  1 1 

 1 2 5 9 7 
 

0 2 8  
   0 6 5 
      1 0 7 
         0 8 4 
            0 7 
          

    PRUEBA 

 
     1 2.5 9 7 
    x       1 1 
     1 2 5 9 7  
 1 2 5 9 7__ 
 1 3 8.5 6 7 

                7 

 1 3 8.5 7 4 
                                

+ 

+ 

3 4 5.9 6 3  2 1 4 

1 6 1 6 
 

1 3 1 9  
   0 3 5 6 
      1 4 2 3 
         1 3 9 
       

     PRUEBA 

 
       1.6 1 6 
      x  2 1 4 
        6 4 6 4  
   1 6 1 6 
3 2 3 2___ 
 3 4 5.8 2 4 

          1 3 9 

 3 4 5.9 6 3 
                                

+ 

+ 


